Honors chemistry workbook

(#9-2)
Thermodynamic Equations and Calculations
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1. 5.0g of H; is burned in excess 05 causing 2000g of water to increase 85C. K UK
T a. Write the balanced equation.
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d. Whatis the enthalpy in ﬂl‘ﬁ'oules?
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a. How much energy is produced wh oles of methano‘lﬁjrned?
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d. How much \l{ ki lD{gg of éater increase in temperature if Eﬁg of methanol is burned \
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3. 5Dg of methane (CHa) is burned producing 2.78kJ of energy.
a. Write out the reaction and determine the enthalpy for the combustion of methane. & N

b. How much energy would be released if 36g of water was produced via combustlon of:.| 3.0
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from a liquid to a gas. A 1000g sample of
ethanol has 100g evaporate away, how
much cooler is the remaining ethanol?
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